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M. Com. (First Semester)  

EXAMINATION, Dec.-Jan., 2020-21 

Paper Fifth 

CORPORATE LEGAL FRAMEWORK 

Time : Three Hours ]  [ Maximum Marks : 80 

[Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- dEiuh dh lEifŸk;k¡ gksrh gSa % 

¼v½ va’k/kkfj;ksa dh 

¼c½ dEiuh dh 

¼l½ _.k/kkfj;ksa dh 

¼n½ bu lHkh dh 
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The assets of the company are : 

(a) of the shareholders 

(b) of the company 

(c) of borrowers 

(d) All of these 

2- izR;sd dEiuh dh LFkkiuk ds fy, ,d vfuok;Z izi= gS % 

¼v½ ik”kZn lhekfu;e 

¼c½ ik”kZn vUrfuZ;e 

¼l½ dEiuh fu;e 

¼n½ ;s lHkh 

There is a mandatory form for the establishment of each 

company : 

(a) Memorandum of Association 

(b) Article of Association 

(c) Company Law 

(d) All of these 

3- izfooj.k tkjh djus ls fdrus fnu igys jSM gSfjax izfooj.k tkjh gksrk 

gS \ 

¼v½ 30 

¼c½ 5 

¼l½ 14 

¼n½ 3 
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How many days before the issue of prospectus, Red Herring 

prospectus is issued ?  

(a) 30 

(b) 5 

(c) 14 

(d) 3 

4- va’k iw¡th esa deh] dEiuh vf/kfu;e dh fdl /kkjk esa nh xbZ gS \ 

¼v½ 64 

¼c½ 65 

¼l½ 66 

¼n½ 67 

Reduction of Share Capital is given in which section of 

Company Act ? 

(a) 64 

(b) 65 

(c) 66 

(d) 67 

5- lkekU; lHkk dh lwpuk nsuk vko’;d gS % 

¼v½ 7 fnu iwoZ 

¼c½ 14 fnu iwoZ 

¼l½ 21 fnu iwoZ 

¼n½ 28 fnu iwoZ 
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It is necessary to give the notice of the  General Meeting : 

(a) 7 days ago 

(b) 14 days ago 

(c) 21 days ago 

(d) 28 days ago 

6- ,d dEiuh jktuhfrd nyksa dks pUns ds :i esa rhu o”kZ ds vkSlr 

ykHk dk fdruk fgLlk va’knku esa ns ldrh gS \ 

¼v½ 4.5% 

¼c½ 5.5% 

¼l½ 6.5% 

¼n½ 7.5% 

How much can a company contribute to political parties as a 

contribution of 3 years average profit ? 

(a) 4.5% 

(b) 5.5% 

(c) 6.5% 

(d) 7.5% 

7- dEiuh ds izcU/kdh; vf/kdkfj;ksa dks vf/kdre lEiw.kZ ikfjJfed fdlh 

foŸkh; o”kZ ds ‘kq) ykHk dk fdruk Hkkx fn;k tk ldrk gS \ 

¼v½ 11% 

¼c½ 10% 

¼l½ 6% 

¼n½ 5% 
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What is the maximum amount of remuneration given to the 

managerial personnel of the company in the net profit of 

financial year ? 

(a) 11% 

(b) 10% 

(c) 6% 

(d) 5% 

8- fdrus fnuksa esa ek¡x fd, tkus ij ,d viathdr̀ dEiuh }kjk _.k 

pqdkuk vfuok;Z gS \ 

¼v½ 14 

¼c½ 21 

¼l½ 30 

¼n½ 7 

In how many days it is mandatory to repay the loan by an 

unregistered company on demand ? 

(a) 14 

(b) 21 

(c) 30 

(d) 7 

9- izfrKk&i= esa i{kdkj gksrs gSa % 

¼v½ 4 

¼c½ 3 

¼l½ 2 

¼n½ 5 



 [ 6 ] E–105 

Parties in Promissory Note are : 

(a) 4 

(b) 3 

(c) 2 

(d) 5 

10- fofue;&i= ij dkSu ykxw ugha gksrk gS \ 

¼v½ ;g fyf[kr gksuk pkfg, 

¼c½ ;g Lohdr̀ gksuk pkfg, 

¼l½ ;g eqnzkad gksuk pkfg, 

¼n½ ;g iathdr̀ gksuk pkfg, 

Which does not apply on bill of exchange ? 

(a) It should be in writing 

(b) It should be accepted 

(c) It should be stamped 

(d) It should be registered 

11- buesa ls dkSu fofue; lk/; foys[k ugha gS \ 

¼v½ fofue; i= 

¼c½ pSd 

¼l½ gq.Mh 

¼n½ izfrKk i= 

Which of the following is not a negotiable instrument ? 

(a) Bill of Exchange 

(b) Cheque 

(c) Hundi 

(d) Promissory Note 
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12- ^;Fkkfof/k/kkjh* dh /kkjk gS % 

¼v½ 9 

¼c½ 8 

¼l½ 7 

¼n½ 6 

The Section of „holder in due course‟ is : 

(a) 9 

(b) 8 

(c) 7 

(d) 6 

13- pSd ds i{kdkj gksrs gSa % 

¼v½ 2 

¼c½ 3 

¼l½ 4 

¼n½ 5 

Parties to cheque are : 

(a) 2 

(b) 3 

(c) 4 

(d) 5 

14- ijØke.krk esa izfrQy % 

¼v½ xfHkZr 

¼c½ xfHkZr ugha 

¼l½ izekf.kr djuk gksrk gS 

¼n½ buesa ls dksbZ ugha 
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Consideration in negotiability is : 

(a) Implied 

(b) Not implied 

(c) To be proved 

(d) None of these 

15- vkns’k ij ns; pSd dk /kkjd }kjk ijØke.k gksrk gS % 

¼v½ ugha gks ldrk 

¼c½ i”̀Bkadu }kjk 

¼l½ js[kkadu }kjk 

¼n½ buesa ls dksbZ ugha 

The negotiation of cheque payable on demand by the  

holder : 

(a) Cannot be done 

(b) By endorsement 

(c) By crossing 

(d) None of these 

16- pSd iqjkuk gks tkrk gS % 

¼v½ 2 eghus i’pkr~ 

¼c½ 4 eghus i’pkr~ 

¼l½ 12 eghus i’pkr~ 

¼n½ buesa ls dksbZ ugha 
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The Cheque becomes stale : 

(a) After 2 months 

(b) After 4 months 

(c) After 12 months 

(d) None of these 

17- lsch dk eq[; dk;kZy; dgk¡ gS \ 

¼v½ fnYyh 

¼c½ eqEcbZ 

¼l½ dksydkrk 

¼n½ psUubZ 

Where is the Head Office of SEBI ? 

(a) Delhi 

(b) Mumbai 

(c) Kolkata 

(d) Chennai 

18- lsch ds v/;{k dh fu;qfDr dkSu djrk gS \ 

¼v½ fuos’kd  

¼c½ nyky 

¼l½ ‘ks;j cktkj 

¼n½ dsUnz ljdkj 

Who appoints the chairman of SEBI ? 

(a) Investors 

(b) Broker 

(c) Stock Exchange 

(d) Central Government 
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19- lsch ls lEcfU/kr /kkuqdk lfefr dc xfBr dh xbZ Fkh \ 

¼v½ 28 Qjojh] 1997 

¼c½ 28 Qjojh] 1987 

¼l½ 21 Qjojh] 1998 

¼n½ 21 Qjojh] 1988 

When was the Dhanuka Committee related to SEBI  

formed ? 

(a) 28 February, 1997 

(b) 28 February, 1987 

(c) 21 February, 1998 

(d) 21 February, 1988 

20- Hkkjrh; LVkWd ,Dlpsat esa ,d cSy dks tkuk tkrk gS % 

¼v½ cnyk 

¼c½ eanhokyk 

¼l½ rsthokyk 

¼n½ buesa ls dksbZ ugha 

In the Indian stock exchange a bull is known as : 

(a) Badla 

(b) Mandiwala 

(c) Tejiwala 

(d) None of these 
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 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj 2 ;k 3 okD;ksa esa fyf[k,A 

 Attempt any eight question in 2 or 3 sentences. 

1- ,d futh dEiuh dh ifjHkk”kk nhft,A 

Define a private company 

2- izfooj.k D;k gS \ 

What is a Prospectus ? 

3- vkUrfjd O;kikj ls vki D;k le>rs gks \ 

What do you understand by Insider Trade ? 

4- izcU/kdh; vf/kdkfj;ksa dk lexz vf/kdre ikfjJfed fdruk gksuk 

pkfg,A 

What should be the overall maximum managerial 

remuneration ? 

5- ijkØke.k ls D;k vk’k; gS \ 

What is meant by negotiation ? 

6- ;Fkkfof/k/kkjh ls D;k vk’k; gS \ 

What is meant by holder in due course ? 
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7- pSd dh dksbZ nks fo’ks”krk,¡ crkb,A 

State any two characteristics of a cheque. 

8- fofue;&lk/; foys[k dh izLrqfr ls vkidk D;k vk’k; gS \ 

What do you mean by presentation of negotiable  

instrument ? 

9- lsch ds D;k mís’; gS \ 

What are the objects of SEBI ? 

10- lsch ds izcU/k dks le>kb,A 

Explain the management of SEBI. 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A vf/kdre ‘kCn lhek 75 ‘kCnA 

 Attempt any eight questions. Maximum word limit  

75 words. 

1- cksul va’kksa ds fuxZeu dh D;k ‘krs± gSa \ 

What are the conditions for issue of Bonus Shares ? 

2- ,d va’k/kkjh vkSj lnL; esa vUrj crkb,A 

Distinguish between a shareholder and a member. 

3- lEcfU/kr i{k ysu&nsu ls vki D;k le>rs gks \ 

What do you understand by related party transaction ? 

4- ,sfPNd lekiu ls vki D;k le>rs gSa \ 

What do you understand by Voluntary Winding up ? 
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5- fofue;&i= ls D;k vk’k; gS \ 

What is meant by Bills of Exchange ? 

6- /kkjd rFkk ;Fkkfof/k/kkjh esa vUrj crkb,A 

Explain the difference between holder and holder in due 

course. 

7- fofHkUu izdkj ds i”̀Bkadu dks le>kb,A 

Explain different kinds of Endorsement. 

8- pSd ds js[kkadu dh fofHkUu fdLesa dk o.kZu dhft,A 

Describe the various kinds of crossing of cheques. 

9- lsch ds dk;ks± dk o.kZu dhft,A 

Explain the functions of SEBI. 

10- lsch ds vf/kdkj D;k gSa \ 

What are the rights of SEBI ? 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A vf/kdre ‘kCn lhek 150 ‘kCnA 

 Attempt all questions. Maximum word limit 150 words. 

1- ßlhek ik”kZn fu;e dEiuh dh ‘kfDr;ksa dks ifjHkkf”kr ,oa lhfer djrk 

gSAÞ fVIi.kh dhft,A 

“Memorandum of Association defines and confines the 

powers of a company.” Comment. 
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vFkok 

(Or) 

vkUrfjd izcU/k ds fl)kUr dk foLrkj ls o.kZu dhft,A blds D;k 

viokn gSa \ 

Explain the Doctrine of Indoor Management. What are its 

exceptions ? 

2- funs’kd e.My dh lHkk ds fy, x.kiwfrZ ds fu;eksa dh O;k[;k 

dhft,A 

Explain the rules regarding Quorum of Board of Director‟s 

meeting. 

vFkok 

(Or) 

izkf/kdj.k }kjk lekiu esa izkf/kdj.k dh D;k ‘kfDr;k¡ gSa \ 

What are the powers of the Tribunal in case of winding up 

by the Tribunal ? 

3- ,d fofue;&lk/; ys[k&i= dh oS/kkfud ekU;rkvksa dh foospuk 

dhft,A 

Discuss the legal presumptions of a negotiable instrument. 

vFkok 

(Or) 

fofu;e lk/; ys[ki=ksa ds vf/kfu;e ds v/khu ;Fkkfof/k/kkjh ds fo’ks”k 

vf/kdkjksa dh O;k[;k dhft,A 

Explain the privileges of a holder in due course under 

Negotiable Instruments Act. 
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4- Hkqxrku ds fy, fofue;&lk/; foys[k dh izLrqfr ls lEcfU/kr fu;eksa 

dk o.kZu dhft,A 

Discuss the rules regarding Presentment of Negotiable 

Instrument for Payment. 

vFkok 

(Or) 

 

lsch dh laxBu lajpuk dh foospuk dhft,A 

Describe the organization structure of SEBI. 
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